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CD 	 LIFE SCIENCE 

LSE-01 : CELL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any four 

questions from question numbers 2 to 6. Use well labelled 

diagrams wherever necessary. 

1. 	(a) Fill in the blanks with appropriate word : 	5 
(i) In the cell walls of prokaryotes, 

	  is present instead of 

cellulose. 

(ii) Smaller the 

 

of light, lesser 

 

is the resolution limit of a compound 

microscope. 

(iii) A lysosome contains various 

hydrolytic enzymes, but more 

specifically the enzyme 	 
(iv) Hydrogen acceptor in pentose 

phosphate path-way is 	 
(v) Synthesis of sugars from substances 

other than carbohydrates is called 
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(b) Match the terms given under Column A 	5 

with those given under Column B. 

Column A 

(a) Single Chromosome 

(b) Glyoxysomes 

(c) Antiport 

(d) Pyranose ring 

(e) Top oisomera se 

Column B 

(i) Lipid metabolism 

(ii) DNA 

(iii) Prokaryotes 

(iv) Na ± K ± ATPase 

(v) Glucose 

2. 	Indicate whether the following statements are true 

or false; give a brief reason for your answer. 

(Attempt any five) : 	 5x2=10 

(a) 9 + 2 organization of microtubules is 

characteristic of both prokaryotic and 

eukaryotic flagella. 

(b) 3' - 5' phosphodiester bonds are found in 

nucleic acids. 

(c) A tightly coiled a-helix represents the 

primary structure of all proteins. 

(d) The enzyme catalysing the reaction, 

Fumarate + H2O -i malate, belongs to the 

class hydrolase. 

(e) Linoleic acid and Linolenic acid are essential 

fatty acids. 

(f) Hydrogen bond is a non-covalent bond. 
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3. 	Write short notes on any two. 	 2x5=10 

(a) Cytokinesis 

(b) Endocytosis 

(c) Fluid mosaic model of cell membrane 

	

4. 	(a) Give brief account for the use of antibodies 	5 
in localization of molecules or organelles in 
a cell. 

(b) Write a note on structure and function of 	5 

Golgi apparatus. 

	

5. 	(a) What is an apoenzyme ? Discuss the effect 	5 
of temperature on the rate of enzyme action. 

(b) Name any four types of connective tissues 	5 
found in mammals. Discuss why blood is 
considered a connective tissue. 

	

6. 	(a) Give a scheme of glycolysis (no description 	5 
needed). How many ATP are produced 
during glycolysis in an anaerobe ? 

(b) Explain the genetic significance of 	5 
prophase-I. 
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(iv)A- Th-T 	(-Errq) 	+,11 1  

(k-41Z-{) 	 6)c-I1 tl 

(v) 	 alfdftokl 3-TP4 4q12.11 A 
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tl 
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	5 
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